COMPETITIVE BIDDING

LEADS AND SIGNALS

OVERCALLS (1°Style, 2°Responses, 3°2/1, 4°Reopening) OPENING LEADS STYLE

1° sound at level 2 Leads In Partner’s Suit
2°cue fit showing after overcall, Jump shift = nat+ fit Suit 3rd _ 5t 3rd _ 5t

Jump raise=pre, NT 4™ (2" if weak s) | 3 —5™(except 1% op’g)
3° new suit forcing (except if 3" player bids) Subsequent lead | 37-5" ,(Att vs.nt)

4°may be weaker and only 4 cards

INT OVERCALL (1°2, 2°4% 3° Responses, 4°Reopening)

Other : lead directing DBL (if no bid suit asks for 4 lead)

1° 15-18

2° live 15-18

CONVENTION CARD

B

category : - 5 cards majors

event: any

Jean-Jacques PALAU Pierre-Yves GUILLAUMIN
21/03/2021

3° system on

4°10-13 2NT=17-19) (X+INT=13-16)

SYSTEM SUMMARY
GENERAL APPROACH & STYLE

5°passed hand : 2 lowest unbid suits ( 5-5 or 5-4)

5 CARDS MAJORS, 1&=2+cards; 1 ¢=4+cards

JUMP OVERCALLS (1°Style, 2°Responses, 3°Unsual NT)

1° weak ( except 2 suiters)  2° 2NT and new suit F1

3° 2 lowest unbid suits

INT=15-17 HCP

162 6=A=¥2M4m=m+M’; 34%=0+¥;30de= A+Vv

2 ¢ multi vul or weak MM not vul

2M4m=m+M’ ;1M-2M4m= m+M’

2%/24/3&/: weak 2 suiters ( except in 4" seat)

1°DIRECT / 2°JUMP CUE BIDS (Style,Responses,Reop’g)

LEADS

Vs SUIT Vs NT
Ace AK+ or A or A+ AK+, asks ATT
King AK,AKXx if side-singlet | 3H++; asks CT(att)
Queen QJ or QJ+ KQ/QJ asks att (CT)
Jack J10 or J10+ or Jx J10 or J10+
10 109 or 109+ or 10+ 109 or 109+ or 10x
9 9x or J98+ or Q98+ 9xx or 9x or J98+
High xXxX, XX, Xxx, xXxx, XX
Low HxX, xxX, HxXx HxxX, HxxXx

SIGNALS IN ORDER OF PRIORITY

1° precised 2 suiters (except | e2&=a) Partners Declarers Discards Openings 242v 243&%3¢in 4" seat: nat 10-13HCP 6+ cards
Live: cue opener’s suit=2 unbid suits, cue responder’s =nat Lead Leads 3" and 4" suit fcg

Reop’g:2 suiters 1 &--24=¢+¥ Suit :1* count count count SPECIAL BIDS THAT MAY REQUIRE DEFENSE

2°stopper ask 2nd att S/P S/P OPE 2 ¢(not vul ): v+a 5+/4+ 4-8HCP

1°Vs StrongNT 2° vs Weak/mini (Direct,Reopen,responses) || 3t S/P if sglt High E OPE 2 ¢ (. ) : 1 Major weak or strong (6-10 or 18-22HCP)

1°D: landy (2 =R 2NT=F1); X=5431(43MM) NT : 1 count count count OPE 2M: 5M/4+m weak (5-10 HCP)

2M=M + m; 2NT=e&+¢ ond Att:highE |S/P S/P OPE 3&:%+¢ weak (5-10HCP)

INT2 ¢ (=1M)2SA:34=v-34=A-39v=A+ 34=v+ 31 High E

,1°Reopen: landy; others nat.; dble =5431(43maj)

Signals (Trumps) : S/P if singleton in dummy, udc in

2°Direct: landy, X= bal. opening or strong any, Xfers

Trump suit, S/P if presumed singleton in partner’s hand

2°Reopen: landy, Xfers (except passed hand)

Signals (NT):Smith echo, Att /A-Qlead or K if short’dummy

OPE 3NT : 1 good Major

1°Vs weak2 2° Vs others Pre (X, cue-bid,)

1° T/O dble, 4m=m+M’,2 ¢ multiX=T0/a 2NT=15-18

DBLES
TAKE OUT DBLES

JUMP CUE over Opp’s opening asks for stopper

1&%-14-1NT : may have 4 cards major

2NT reop=14-16, CUE= stopper ask,

Im] a X= suggests strongly ¥,

Imlyl a=6+hcp denies & suit, | &1 6 X=4+%, Iml vX=4+4

2°CUE =2suits, 4NT=minors or T/O,

Im - -INTX=T/O short m’; 1Y1ZINTX=T/0

Vs strong & or strong ¢

- - IM-2& (drury)X=T/Oon M; 1Y1Z -2YX=T/Oon Z

X=values with maj ; INT= minors (5-4 or better)

1Y - INT2ZX=T/0 (except if Y=&)

SPECIAL ARTIFICIAL AND COMPETITIVE DBLE REDBL

Neg dbl Max overcall X, Re-opening X, Responsive X,

IMPORTANT NOTES THAT DON’T FIT ELSEWHERE

OVER OPPONENTS TAKE-OUT DBLE

Lead directing X, Support X; ImIMINTX=m’+M’(or strong)

Im-1M-2M-3m= game try

New suit F1 at level 1 only; jump shift=fit;

if cue dled: XX ]stroundcontrol 1 A2 @3 9-49X: asks another lead

1m-1M-2M-2SA*=GF asks shortness

Jump raise= PRE

ImIMXXX= strong any or A or Kin M

Ix lyla: 2&*=invR :2¢*=GF R

2NT Jordan =limit raise in M

Slam comp: 2™ seat: pass=0-2 def tricks, X=1; 4" seat=0/1

Psychics :weak opening in 3" seat, others unsual




OPENING BID DESCRIPTION

Opening | Art | Min | Neg DESCRIPTION RESPONSES SUBSEQUENT AUCTION PASSED HAND
cards | Dbl (& modification if overcall) BIDDING
1%/ 2 4% |Nat 11+HCP 2&GF (except comp);2 =limit raise Modified 3" suit; modified Walsh ; 1m1¥3a=splinter Jump shift=fit
S&+5a0r 3343 possible | 2M=M+& inv. 1 %242 ¢ =ambiguous / ImIM INT->:2&R Inverted raises
le 4 4v 2 ¢ GF (except comp);3 #=limit raise / opp’s dble:2NT weak raise, NF raises
2M=M++ inv. lopp’s overc: weak raises, 1y INT:2 &=2 high unbid suits & 2z=Xfer
lv 5 4¢ |11+HCP Invit raises :2NT(4cards) 3#(3cards) | If M fit:2NT=R ; nat trial bids Jump shift=fit
3M=7-8Hcp raise (4cards) 1v2&2¢: denies ¢ ;141NT2m2¥ denies ¥ Drury shows fit
La 5 4¢ 3e=any splinter, 3M’spl /opp’s dble: Jordan; 3INT=undetermined splinter; jump shifi=raise 2NT= raise+sglton
Xferspl : 3NT,4%; 44: bal raise(5+M) | /opp’s overc: jump shift = raise;2NT limit 3 cards raise —3#* asking
1SA 4 |15-17 2#modified Stayman (may have no M) | Smolen; INT242NT or 3&(=4+¥.)> 3 ¢=¥ or 3v=a(—>3NT fcg) System on
5M, 6m, 54 possible Xfers:2 ¢292A2SA; 3a=a+eweak Art auction after Xfers
3e=v+a(5+H),3v=3154, 3a=1345 | INT3m: 39=4, 34=9
4a=w+ de=a+ 49=2155 44=1255 | Opps overcall: system on or Xfers from 2NT(Rubensol)
Qe X 10 4w | 22-23HCP NT, or 24=GF R 2¥<4H (no K), 2a=w Ovecall from 2 ¢ to 49: X=5+H, pass = <4H, others nat System on
2% Any GF ONT=4 3%=4 3 ¢=& 3M=M’AKQxxx | Overcall from 4#: pass=Encr ; X= Discr
24 X 10 v+a  5+/4+ 4-8HCP |2NT =R, 3& (forces 3¢), 3enat F 2 2NT: 3%=5/4mini, 3 ¢=5v/4amax, 3¥=5a/4vmax, 34=5 /5max, System on
Not vul 3M or 3NT: to play 243%3¢:3Minv, 3NT= & inv.
24 One Major weak(6- 2M or 3M: pass /correct, 34=MM inv | 242M:3%= ¥ 18+(34=GFR),3¢= a 18+3¥(GFR),2¢2a2NT=v8-10H
B X |0 10H) or strong(18-22H) | 4&—MXfer, 46—M, 2NT: Rel 242NT :3%=%(6-10), 36=4(6-10), 3% or 34 nat (18+)
2w 5 5'w/4'm (5-10HCP) 2NT R, 3&=p/c, 3¢= winv, 3a=inv
24 0 5+a/4+m (5-10HCP) | 2NT R, 3&%=p/c, 3 ¢= 4inv, 3¥=inv
2SA 20-21 Stayman,4Xfers: Mxfer—3M=2 cards | 2NT3&3NT(=both Maj):4&%=% or 4¢ = aor 4¥=¥ encrg or 4a=Aencrg;
2SA 5M, 6m, Sm4M 4e=v+ta. 49=215544=1255 Smolen; 2NT3e3v4a=5%-5 slam forcing; 2NT3#3¥34R asks 4 contl
possible 2NT3v344&R=asks® control (—44=neg)
3 *+ ¢ weak (5+/5+) 3%:34=2+ 3NT1255,4#1165,4 40265 | 490355
3% 34 : 3NT short 4, 4#2155, 440265, 490256, 44 3055
3SA | X 1 good Maj 4%/4 ¢=cue ; 4¥=pass or correct
4Y 8(7) Pre
4SA  |X Both minors
BIDDING 2 Players BIDDING 4 Players SLAM CONVENTIONS

1%2%3 ¢/v/a=splinter ;

ImIMINT2m=M’+M tolerance SKCBW (4130 exceptstrump) ; forcing pass, cue-bid

Im1v2NT3&R>3 ¢=5m431fcg/3vfcg/3a=4a5¢ 1M -2 M 4m=m+M’,

INT24X:--= J ,2 ¢=dstopper noM,XX=Z&1+M if overcall/BW: pass=even dble=odd

Im1¥2NT3 &3 ¢ >pass/3¥NF/3 a=4-4Maj fcg/3NT=aslamish

IM2NT3%=M strong / 3 ¢=M’strong3M/3M’ NF _ / asking bids at level 5 only on 3 level preempts

1e1a2429¢/3NT= H raise ++ stopper

INT?2 ¢ XXX=fit no ¢ stopper(or Axx) 3NT forcing if strong M. Fit found

16242429/ 3NT=v+astop/3v=v+Ta/3a=spl

IYINT2Y: neg dble & rubensol 1YINT2Z: pen X and nat strong ¥ fit found : 3 #asking 23NT= acontrol

ImIM4m= 6/4 raise; 1 AINT2&2 ¢=v-+tolerance

142&-2NT- 3M=M’ 2NT3 4 3 ¥ :3 asking D3NT= 4 control

1e1wlalSA28=3cards ¥ (12-14H)

1614 -3 e=balanced 4 cards raise inv 4NT invitational 2BW4(except fit) 25NT=end or 5 #fcg




